KONSTRUKCJE WOLNOSTOJACE

Free-standing structures

. KONSTRUKCJA DWUPODPOROWA
. STAL/MAGNELIS
- 4 PANELE POZIOM

)4

e

POLAK PV




1. ROZMIESZCZENIE

Layout
4
N
-]
P
C
P
O
[
=
=
O
4
—
>
N:
c
>
n
3
~
e
>
=
O
<
< /
> B!
S |
C:r:.: |
~ min 130 cm |
max 220 cm
. 260-300 cm
Rozmierz odlegioéci na gruncie gdzie beda Wbijane podpory‘ Measure out distances on the ground where the supports will be Iinserted.
i " - < o - Precise measurements taking into account width of the modules,
Bardzo wazne jest doktadne rozmierzenie szerokosci konStrUKcﬂ position of the slots in the bottom side of the cross beam as well as profile
uwzgledniajqc szerokosc ITIOdU*éW, dolne otwory w belkach pOpl‘ZECZI’IYCh connectors, are very important. Dimensions of the profiles and slots are in

oraz tagczniki belek- wymiary belek i otworow w zatgczonych rysunkach. the attached drawings.

T'he distance between the short and tall support posts is 220 cm.
Odstep miedzy podporg niskg a wysokg to 220cm. Orient the construction due south. Set the support profiles in the ground

Ustaw kOﬂStFUije Wzgledem po’fudnia. Profil osadz na g’rebokos'ci least 130 cm deep, by hammering in or anchoring in concrete poured
e - P : . : . into post holes.
minimum 130cm wbijajgc badz wykonujgc odwiert a nastepnie betonowanie.

)4

e

POLAK PV




2. MONTAZ BELKI GEOWNEJ

Main support beam installation

Nakretka M10
M10 nut

<
n
-]
A
C
A
O
-
>
=
o
<
-
L
N
c

TYNNYW NOILY TTVLSNI

Sruba
szesciokagtna M10

M10 hex-head bolt

PrzykrecC belke gtdwng do podpory dtuzszej, nastepnie do podpory krotszej. Fasten thejmafnlbeam to the taller support post then to the short one.
Wykorzystaj do skrecenia sruby M10. Use the M10 bolt.

K s ; .
- i

POLAK PV




3. MONTAZ ZASTRZAEOW BELKI GEOWNEJ

Main support beam braces installation

3x Blachowkret

3x self-tapping screw

b4
)
-
P
C
P
O
-
>
S
O
4
-
2
N
c

3x Blachowkret

3x self-tapping screw

TVIINVIN NOILY TIVLSNI

Sruba
szesciokgtna M10

M10 hex-head bolt

Nakretka M10
M10 nut

Dopasuj pomiedzy tylng podpore a belke gtowng zastrzat z blaszkg mocujaca. Fit the brace bar with the mounting plate between the rear post and the main

7 } pot | k 4 M1 : t beam. Secure the brace to the mounting plate with a M10 bolt, then use the 6
pea—. . Rlas et s SrUDy 0 natomiast zastrzat z DOdefa self-tapping screws to attach the mounting plate into the main beam and the

tylng i blaszke z belkg gtdwng potgcz za pomoca 6 blachowkretow. brace to the post.

)4

e

POLAK PV




4A. MONTAZ BELEK POPRZECZNYCH

Cross beam installation

Sruba

T T S, szesciokatna M10
' M10 hex-head bolt

<
n
-]
A
C
A
O
-
>
=
o
<
-
L
N
c

TYNNYW NOILY TTVLSNI

e} 4-5 —
I
1,5
3
Nakretka M10
M10 nut
1 .
Belka niska
Belki poprzeczne przykrecaj za pomoca srub M10 do belek gtownych Fasten the cross beams to the main support beams with M10 bolts using slots

in the bottom side of the cross beams.

wykorzystujgc otwory o srednicy na dolnej czesci belek poprzecznych. First beam should always be supported on 2 points as depicted above.

Pierwsza belka zawsze musi mieC 2 punty podparcia jak na powyzszym rysunku.

e
£ b
Rl 4

POLAK PV




4B. MONTAZ BELEK POPRZECZNYCH

Cross beam installation

Z

7

= ;

g Sruba
= szesciokgtna M10
8 ; M10 hex-head bolt
>

=

o

<

- "

> e

N-

c

=

W

>

r

o

>

=

O

Z

=

I>

<

2

>

s

Nakretka M10
1.5 M10 nut

Belka wysoka

Belki poprzeczne przykrecaj za pomocg srub M10 do belek gtownych Fasten the cross beams to the main support beams with M10 bolts using slots
: { : : L in the bottom side of the cross beams.

v\{ykorzystumc otwory o Srec_jm?y ,na dOlﬂEj Sy t?el_ek poprzeczpych. First beam should always be supported on 2 points as depicted above.

Pierwsza belka zawsze musi mieC 2 punty podparcia jak na powyzszym rysunku.

i
e -".E.
L YalS
T
b
At
o
- e
SR T
g £
o

POLAK PV




5. MONTAZ £ ACZNIKOW BELEK
POPRZECZNYCH

Z
N
;I Cross beam connectors installation
s Sruba
o szesciokgtna M10
~ M10 hex-head bolt —  Nakrgtka M10
M10 nut
=,
=
— o
>
N-
c
o
>
n
>
~
B
>
=
O
<
<
>
<
=
>
Ty
WYKOI’ZYS'[U]&}C otwory umiejscowione na bOCZﬂE’:j CZ@éCi belek pOpFZE’:CZﬂYCh Using the slots located on the side of the cross beams insert the beam
. : i . . : connectors and fasten them with M10 bolts, to which following beams
| sruby M10 zamontuj tgczniki belek, do ktorych dokrgcane bedg kolejne belki will e eonmeeted

poprzeczne.

)4

e

POLAK PV




6. MONTAZ KLEM

Module clamps installation

Z
»n
-]
.
c
~
O
[ S
>
e Sruba imbusowa M8 =
g M8 allen bolt " -
4 L™
> -
< ; =
» 3
2 w3
"2"‘ o
“m" o
= o -
; —— > i
;.
O
<
<
% 3 S ~y -3 -
=
>
e
N :
: »
Klema
Clamp
| Nakretka rombowa
Romboidal washer
Rozmiescé klemy na belkach poprzecznych u2ywajac pod’ruZnych otworow Arrange clamps on the cross beams in the long 9mm slots on the top

" . - ; ’ . : side of the beam using M8 allen bolts and romboidal nuts.
9mm na gornej czesci belki oraz srub imbusowych M8 i nakretek rombowych. .

Clamps stabilise the longer side of the module, on either end of a row of
Klemy stabilizujg dtuzszy bok modutu, rzagd modutow rozpoczynajg i koncza modules the end clamps are used while middle clamps are used between

klemy koncowe, natomiast pomiedzy modutami znajdujg si¢ klemy srodkowe. rp—

)4

e

POLAK PV




N /. MONTAZ PANELI FOTOWOLTAICZNYCH

NZVLNOW VIOMXNALSNI

Na tak przygotowanej konstrukcji rozmies¢ moduty dokrecajgc klemy kolejno po utozeniu
Kkazdego nastepnego modutu. Klemy powinny znalezc¢ sie na odpowiedniej szerokosci
modutu, zgodnie z zaleceniami instrukcji montazu modutow fotowoltaicznych.

%,

e

POLAK PV




